Xpcal Calibration Parameters (2025-05-13)

V_Tx1 bg:
V_Tx2_bg:

V_Rx_bg:

apha RxPDpWSK 1.
apha RxPDpWSK _2:
apha TxPD1pWSK:
apha TxPD2pWSK:
e 1.

e 2

SP_1:
ca_SP P norm:

ca_SP V_norm:

SP_RxPD_norm_dan:

SP 2:
ca_SP P norm:

ca_SP V_norm:

SP_RxPD_norm_dan:

0.012277 + 0.000628 (5.11%)
-0.000567 + 0.000628 (-110.67%)
-0.003761 + 0.000062 (-1.64%)
0.156656 + 0.000035 (0.02%)
0.156534 + 0.000030 (0.029%)
0.442748 + 0.000019 (0.00%)
0.603427 + 0.000029 (0.00%)
0.970249 + 0.000106 (0.01%)
0.956375 + 0.000100 (0.01%)

0.501837 + 0.000118 (0.02%)
0.502080 + 0.000153 (0.03%)
0.502028 + 0.003888 (0.77%)

0.498163 + 0.000132 (0.03%)
0.497920 + 0.000154 (0.03%)
0.497972 + 0.003888 (0.78%)



V_RxPD

PXPD WITH_2 BEAMS
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PXPD_WITH_PATH1

V_RxPD_pathl V_RxPD_path1 V_RxPD_pathl
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V_RxPD_pathl_Tx1 V RxPD_pathl Tx1 V_RxPD_pathl_Tx1
107*
1.9608 - 10° 4 — ASD [V/rtHz]
—-- RMS[V]
1.9606 - ——— e
1.9604 - £ 074
= g o
= a s
& 1.9602 4 g 4 E
= g &
] g g
= g 1004 =
1.9600 - £
1.9598 1 gamma
~7" param: (262.021, 1.957, 0.0)
1.9596 10° 3 — 1os014-3555:
3 histgram, size: 153600
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. 1 L L L
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Time [s]: start: 1431130332.0 X values Frequency [Hz]
V_RxPD_path2 Tx2 V RxPD_path2 Tx2 V_RxPD_path2 Tx2
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Frequency [Hz]



\oltage [V]

Voltage [V]

Voltage [V]

V_WSK Rx _d warm

WSK_WITH_NO BEAM_ AT _RX_WARM

V_WSK_Rx_d_warm
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WSK_WITH_PATH_ 2 AT _RX

V_WSK_Rx_p2 V_WSK_Rx_p2
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Voltage [V]
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TXPD2_AND_WSK
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V_Tx1 sl0

TXPD1_AND_TXPD2 S10
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Voltage [V]
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WSK_PORT_OP5
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